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Cltr 104 Chemical Kinetics & Organic Reaction Mcchanism

(Proper and Repeat)

TineAllowed: One hour

Alswer rll questions

0l(a)(i) Anaoge the following carboniurn ions in the order cf increasing stability and

explain your answer.
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(ii) Draw the resonance structures for the lollowing compotmds
(20 Marks)

(30 Marks)
(bxi) Suggest a mechanism involvcd in the following first order reaction.

(CI{tr-CCl + OH' -+(CH,1-COH + Cl-

(10 Marks)

(ii) Explain how the polar solvent affectslhe reactivily of SNi irrd SN2 reactions?

(c)(i) what are the theories rrsed to explain acidity and basicity dmolecules? 

(10 Marks)

(06 Mark.r)

(ii) Explain the pKa values CHTCOOI.I and CII:OH are 4.76 and 14 respectively and
pKb values of Nll1 and CIIINH2 are 4.75 and 3.36 rcspeclively.

(24 Marks)

Contd..-



02) (a) Sugges/the possible mechanisrn lbr the nitation ofBenzeEe

(bxi) State the rate 1aw lor a chemical rcaction.

(ii) Define the ter61 "qrder', ofa chemical rcaction.

(iiil^Deri\e rhe inregraled rbrm of rhe first order rare equaLion for ereactuon and show the half ljfe of ttnlttal (.oncentration ne ttrsl order reaction js indepen(

A _+ product

(c) The Concentration oflz found expc,rimentally every
an experimental are listed below,

Concentarion of I, (mol/dm3) : 0. i 00
0.040

30

Time (seconds):

Show that the reaction is slowing down with time.

10 seconds. The result!

0.061 0.050

10 20

(d) Show that the half life pedod of a second order reaction is
concentration of the reactant.

deperd upon the


